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Chemistry: Some Basic Concepts of Chemistry
Physics: Units & Measurements
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Answer: (3)
Answer: (3)
Answer: (2)
Answer: (4)
Answer: (4)
Answer: (2)
Answer: (1)
Answer: (2)
Answer: (3)

. Answer: (3)
. Answer: (1)

Solution:
Counting numbers of object have Infinite significant
figures.

Answer: (3)
Solution:
1 electron = m. kg

. Number of electrons in 1 kg = mi electrons

1
me. 1
. Mole of electrons = @ =—
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Answer: (2)
Solution:

2Hx(g) +  02(g) — 2H20(1)
t=0. 50ml 20 ml 0
Final 10ml 0

.. Reduction in volume of gases=[50+20]-[10]=60ml

Answer: (3)

Solution:

_11.2x1073 _ 4
Neo, =—,, ——-9x10 mol.

Number of atoms =3 x5 x 10 x Na = 1.5 x 10°2 Na

Answer: (2)
Solution:
Moles of H,SO4 = M x V(L)

0.5 X100
= =0.05 mol
1000

CaCOs + H,S04 — CaS0O4 + CO; + H,0

1 mol CaCOs =1 mol H,SO,

. 0.05 mol of H,SO4 will react with = 0.05 mol of
CaCOs3

Mass of CaCO3; = 0.05x100=5¢

16. Answer: (2)

AP Aa Ab 5 Ac

—x100=—x100+—x100+—=-—x100
P a b 2 ¢
1A 400

2 d

:1%+2%+gx3%+%x4%:12.5%

17. Answer: (2)
m o« G2h°C®
[M LO TO] = [M—1 L3'|'—2]a [M L2T—1]b [LT—1]C
—-a+b=1
3a+2b+c=0
—2a-b-c=0
On solving

18. Answer: (4)
[Time]l =[RC] = {%} =[JLC]

19. Answer: (1)

o
2n

(L] =[A]

L

20. Answer: (1)
ML2T2] =D F> \°
[ML2T?) = [M L3P TP L T

= a=1,b=-3,c=5.
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